




Foglio1

Pagina 1

Compito 1

X Y Z:=Log y X^2 Z^2 ZX
-1,00 1 0,00 1 0,000 0,000
2,00 40 1,60 4 2,567 3,204
5,00 600 2,78 25 7,718 13,891

media 2,00 1,46 10,00 3,43 5,70
varianza 6,00 1,30

m= media xz-media(x)media(z) 2,778 0,463
varianza(x) 6,000

q= media(z)-m*media(x) 0,534

a= 10^q 3,419952
p= 10^m 2,904191

0,9922

CP= media(xz)-media(x)media(z) 2,7782 0,9961
devstand(x)devstand(z) 2,7890

0,9961
R^2= 0,9922

regressione lineare 
associata

regressione 
esponenziale

Rq (calcolato da 
calc)=

CP calcolato da 
calc=















Foglio1

Pagina 1

Compito 2

X Y Z:=Log y X^2 Z^2 ZX
-2,00 1 0,00 4 0,000 0,000
-1,00 20 1,30 1 1,693 -1,301
6,00 60 1,78 36 3,162 10,669

media 1,00 1,03 13,67 1,62 3,12
varianza 12,67 0,56

m= media xz-media(x)media(z) 2,096 0,165
varianza(x) 12,667

q= media(z)-m*media(x) 0,861

a= 10^q 7,259417
p= 10^m 1,463835

0,6143

CP= media(xz)-media(x)media(z) 2,0962 0,7838
devstand(x)devstand(z) 2,6744

0,7838
R^2= 0,6143

regressione lineare 
associata

regressione 
esponenziale

Rq (calcolato da 
calc)=

CP calcolato da 
calc=













Foglio1

Pagina 1

Compito 3

X Y Z:=Log y X^2 Z^2 ZX
-3,00 10 1,0000 9 1,000 -3,000
0,00 1 0,0000 0 0,000 0,000
9,00 0,1 -1,0000 81 1,000 -9,000

media 2,00 0,00 30,00 0,67 -4,00
varianza 26,00 0,67

m= media xz-media(x)media(z) -4,000 -0,154
varianza(x) 26,000

q= media(z)-m*media(x) 0,308

a= 10^q 2,030918
p= 10^m 0,701704

0,9231

CP= media(xz)-media(x)media(z) -4,0000 -0,9608
devstand(x)devstand(z) 4,1633

-0,9608
R^2= 0,9231

regressione lineare 
associata

regressione 
esponenziale

Rq (calcolato da 
calc)=

CP calcolato da 
calc=










